FHRSOFEE2AMIETH (Rathl) —&
(FRAIOEE—REFHETFHE(F65))
(1) —KEF-HFAl=E (B FH. %)
= i A& fHIERTDEE| HIE%E &t P
— fi& = £t| 49,188,151| A 1,053,383| 48,134,768| A 2.14
e Al = £t| 30,478,181| A 233,900 30,244,281| A 0.77
ERBERKS <& 17,112,742 A 2,771 17,109,971 A 0.02
% R KR % A & 5| 10536,193] A 164,299 10,371,894 A 156
ZHEBEERS AN RE 1773865 A 6,535 1,767,330| A 0.37
BEEEHKEXEENEGT 896,961 A 60,295 836,666 A 6.72
ITHREEESEXHIRE 158,420 0 158,420  0.00
=) it 79,666,332 A 1,287,283| 78,379,049| A 1.62
(2) KESBERE (B FH. %)
X % fHIERTDRE| #HIE%E &t P
RO# M IR A 4,128,198 0| 4128198 0.00
RoO# M X W 3,518,822 0| 3518822 0.00
E X B I A 320,705 0 320,705/  0.00
E X ®M X H 1,858,973 0| 1,858973| 0.00
(3) FKEBXRE (B FH. %)
X % fHIERTD%E| HIE%E &t P
RoO#F M IR A 3,738,856| A 62,767| 3,676,089 A 1.68
RO# M X H 3,735,154| A 28272 3,706,882| A 0.76
E X ®M I A 2,069,305 A 107,886 1,961,419| A 5.21
E X WM X H 2,972,579| A 142206 2,830,373| A 4.78




	（率あり）会計別

